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JEE ADVANCED-2012 

PHYSICS 

1. Sol. (A) 

0.5
. . 0.005mm

100
L C    

 2 dY

Y d

 
   

3

0.005 10 1

0.25 10 50

 




 


 

  3

3

2 0.005 10 1
2

0.5 10 50

d

d

 



 
 

  

 

2. Sol. (C) 

 

 

3. Sol. (B) 
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4. Sol. (B) 

 2 2dI d
C mv t

dt dt
      

2 2m v t . 

5. Sol. (D) 
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6. Sol. (C) 
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7. Sol. (C) 

 

     
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8. Sol. (A) 

02 sin 45
1

v

g
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50 m sv   

 

9. Sol. (D) 
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4 

 www.tgcampus.com 

 

10. Sol. (D) 

 

11. Sol. (C, D) 

If 90   , B  exerts no force on q . 

If 0   , 10 , the charge particle moves in helix with increasing pitch due to E  along 

-axisy . 

 

12. Sol. (A, C, D) 

Net flux through the cubical region 
0 0

3q q q q

 

  
   

The flux passing through the faces ,
2 2

a a
x x


    and 

2

a
z    are same due to 

symmetry. 

13. Sol. (B, D) 

At the open end, the phase of a pressure wave changes by   radian due to reflection. At 

the closed end, there is no change in the phase of a pressure wave due to reflection. 

 

14. Sol. (A, C) 

At 45   , mg sin 1 cos    

At 45   , mg sin 1 cos    (friction acts upward) 

At 45   , mg sin 1 cos    (friction acts downward) 
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15. Sol. (A, B, C, D) 

Nodes P  and Q  are equipotential and nodes S  and T  are equipotential from wheatstone 

bridge, no current passes through PQ  and ST . 
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16. Sol. (7) 

 
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17. Sol. (6) 
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18. Sol. (7) 

   2
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15 19 34
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19. Sol. (3) 

 
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      
   
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20. Sol. (5) 
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